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Which of the [hllnwing is caused by a virus?

1 s
(a) ulcer

. )
::E./ malaria

\.
¥

tuberculosis

y

influenza
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O the diagram below, draw arrows to indicate the direction energy flows among
producers, consumers, and decomposers.

The arrow shows the direction of energy flow from the sun to the producer.

Sun

il
O:
A :
/”\\\

Decomposer Producer

.

Consumer
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Code | Response ‘ Item: S042043
] | Correct Response
10 | Three correct arrows are drawn as shown below: There are no incorrect arrows.
Sun
./_\‘]
9
—— . N
q;]‘:ér VAT
Producer
Decomposer
e
Consumer

| 11 Draws two correct arrows. There are no incorrect arrows.

‘ | Incorrect Response

70 | Arrows are pointing in the wrong direction:
Consumer to producer
Decomposer to producer

DdCUI‘[lPOS[‘.‘I‘ to consumer

71 | Draws one correct arrow. ‘There are no incorrect arrows.

79 | Other incorrect (including crossed out, erased, stray marks, illegible, or off task)
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What is the main function ullhlur(‘mp]]}'ll in plants?

{ay  Toabsorb light energy
A ]
(8) To break down carbon dioxide
—
© To make plants’ leaves poisonous Lo insects

o To protect plants from disease
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Which characteristic is found ONLY in mamimals?

{ny  eyes that detect color

(B) glands that make milk

©  skin that absorbs oxygen

’JJ“ baodies that are protected by scales
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Which of the [‘hllnwing is the best way to determine whether two peaple are

related?

(&) Compare their blood types.

(B) Compare their handwriting.
':_(‘3 Compare their genes.

(o) Compare their ingerprints.
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The gall bladder stores bile, a fluid that aids in digestion of fat.
Which of the following types of food should be avoided by a person
whose gall bladder has been removed?

(&) fruits

(B} grains

= heese

(c) cheese

(O wegetables
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The heart, veins, arteries, and capillaries make up which organ system?

() reproductive
o L

(B) muscular

(©) excretory
@ circulatory
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Name one structure found in plant cells that 1s not found in animal cells.
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tem 1D RN | Subiect [ Grade Bl Biock I Biock seq [N

[ Code [ Response ] Item: S032015 |

| Correct Response

10 | Chloroplasts (chlorophyll)
11 Cell wall
12 Large vacuole
19 Other correct
| | Incorrect Response
70 | Names a structure found in animal cells (e.g. nucleus, cell membrane, cytoplasm, mitochondria,
centriole, DNA).
71 | Names a difference between plants and animals that is NOT a cell structure.
Examples:
Petals.
Plants have stems and flowers, but animals do not.
Plants can photosynthesize.
79 | Otherincorrect (including crossed out/erased, stray marks, illegible or off task)
| | Nonresponse
99 ‘ Blank |

(Anlally Ao padl WAY o 45)80) o ffpedd/ cdite
2 sas gl BN A N bl Caall meian 29asa 1 dNsud) & guiaga
- ]

Al o) o ged a8 (Apac) 4nS i RS Al (Sl el & daal

il cilald )-8

Alpadls Anlal) AR G A3le Jee —
canll e Lagin @)l oz hadaly cpindall e —
aac 45lS Jlagi) —

:dgaliia dij-9

Al geally Aalall 400 oy Taals Wy SO

(178)



S$032310 3 pially abedd) Jlswadl 1
o) ian —2
tdg el Al Jisad) -3
Bua ddyre ) sl 4pailly (S

50703

sl Q) Bl A o) jumdl) bl ) a8 2l
s sl S sl JAal/adanl dlee 8 A 1 S sall gl

ol Sl (35 Abee B (55 pem A (ole S

1

[

2 5lasty) 4G Jsd) —4

Food and oxygen are produced during photosynthesis in green plants.
Chlorophyll is one thing that is needed for photosynthesis,

Name two more factors that are needed for photosynthesis.
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subject [ Grade B Biock [N Biock seq EENN

Note: Each of the two responses is scored separately using the same codes. Each correct diagnostic code
(10,11, 12, 13) can be used only once. If two responses are essentially the same, the second
response should be given a Code 79. For example, if the first response names “carbon dioxide”,
and the second response names “air”, then the first response is given Code 11 and the second is

given Code 79. If only one response is given, the second should be coded as 99.

Code ‘ Response Item: S032310A,B
Correct Response
10 Sunlight (or light)

11 Carbon dioxide

12 Waler

13 | Air [Accepted as correct as long as carbon dioxide has not already been named and oxygen is
not explicitly indicated.]

19 | Other correct
xamples:
Enzymes
NADP

| | Incorrect Response
70 | Oxygen

71 | Sugar, glucose, starch, carbohydrate (or similar)

72 Soil (or similar)

79 | Other incorrect (including crossed out/erased, stray marks, illegible or off task)
Examples:
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The graph shows the human population growth in the world over the past 1500

vears.
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State one reason why the human population increased rapidly beltween the years
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Note: Credit is given for responses that are clearly related to increased survival or lifespan or decreased

death rate due to improvements in health care, medicine, nutrition, sanitation, standard of living,
etc, If a response mentions scientific advances, technology, or industrialization it must be clear
how this is related to an increase in survival rate. If only technology (or similar) is mentioned,
then Code 70 should be given. Responses that mention only increased birth rate or reproduction

should receive Code 71.

Code ‘ Response | Item: S032122
I Correct Response
10 Gives a correct reason related to increased survival, lifespan, or decreased death rate (or similar)
Examples:

Advances in medicine

Less deaths at birth.

Better living conditions so people are living longer and healthier.
Hospitals have better equipment

The sanitation is befter.

An increase in life span.

More births than deaths due to higher standard of living.

19 Other correct

| I Incorrect Response

70 Mentions technology, scientific advances or industrialization (or similar) but with NO
connection to increased survival.

Examples:

This is due to advanced techrnology.

Because of the inventions that have been made.

The industrial revolution.

Maore factories

71 Mentions only increased birth rate or reproduction. [No mention of decreased death rate or
increased lifespan.]

Examples:

Everyone is producing more humans every year.

People get married earlier and start having babies,

79 Other incorrect (including crossed out/erased, stray marks, illegible, or off task)
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99 } Blank
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Which of the following graphs best shows how the human population of the
world has changed over the last 300 years?
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